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SECTION 1. CHHOICE QUESTIONS : (25 %, each question is weighted 5 points)

Covinti gk xf1=(57,4,6,3,8};
for (i=0;i<5; i++) {
for (j= (i+1), /< 6; j++) {
k= x[i];
x[i]=x[/];
=k} )
What are the contents in x[3], x[4] and x[5] ?
(a)4,7,5
h)5,4,3
(¢)6,3,8
(d)o6,7,8
()2 Whatis the output of the following program?
static int arr ] = {2, 4, 6} ;
int j, *ptr,
plr=arr,
for (7=0; j<3; j1+) {
printl ("%d", ¥(arrt7));
printf ("%d", *peet) ;)
(2) 24681012141618202224
(b) 224466
(c) 244667
(d) 24646846868968991011
() 3. What is the output of the following program?
int a=1, b=3, ¢=5, d=7;
a = h+d%e;
b=ty
¢ +=d+3*q-b;
d = ++b;
printf ("%d %d %d %d", a, b, ¢, d ) ;
(a)0738
(b)57147
(c)57227

()56236
() 4. A sequence of numbers, including 53 46 37 20 44 13 77 27 4 84 68 65 47,
are placed into the cirenlar array ¢f13] by using the hash function A(k)=k%13. If a collision is

happened in ¢[i], a number will be placed into ¢[i+1]. What is the content in ¢[9], after all numbers

ELRSEItN

have been placed into array ¢ ] ?
(a) 77
(b) 27
(c) 65
(47
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() 5. What is the Prefix expression of the following Infix expression?
a*(bte)Y*dte*(f/g)+h
@+ +**a+bed*elfgh
M+*a+thbc*d*elfg+h
y+**a+bcde*/fgt+h
(D *atbe*d+*elfg+h

SECTION II. PROGRAMMING QUESTIONS :

6. Give the outpul of the function call f(12). (10%)
int £ (ntn) {
if(n==0)retnrn 0,
if(n==1)return |;

elsereturn (f(n-1)+f(n-2)); }

7. Give the output of the following program, where A denotes a blank space.(10%)
void main() {
for (int 1=0; i<5; i++ ) {

B GOX]
for (int /=0, j<2-; j++)
cout<<"A";

for (int k=0 k<i*2-+1; kt-+ )
cout<<"*",

cout<<endl; }

else {

for (int j=0;/<i-2y++)
cout<<"A";

for (int k=0;k<(4-i)* 241k ++)
cout<<"*";

cout<<endl; } } }

8. Give the output of the following program. (10% in total)
(1) (5%)
void flint ¢, int d) {
c=c*d,
=c-d; }
void main () {
int a=3, b=0;
f(a, b);
printf("a=%d, h=%d", a, b),
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2) (5%)
void f(int *p, int *q) {
*p=rgd;
Ye=p2, )
void main () {
int a=3, b=0,
1 (&a, &b);
printf ("a=%d, b=%d", a, D);
}

9. Give the output of the following program. (10%)
void f(const int 5] ], int s) {
if (s>0) {
S (&D[2), 5-2);
printf ("%d", b[0]); } )}
int main () {
int a[101={9,8,7,6,5,4,3,2,1,0;
JACRIYE
return 0;  }

10. Consider the following program fragment. Let array element a[0] be allocated at memory address 1000.
Let each inleger variable occupy 4 byles. Please answer the following questions. (20%)
int *p;
inl a[10]={2, 34, 45,9, 19, 28, 5, 3, 67, 17};
p=a,
M Hatly=_____ -
QOp=______ .
=
@pr2=___
OY*pty=__

1. Objcét oriented programming hias several important features, including Hiding, Overriding and

Overloading. Please explain the terms of Hiding, Overriding and Overloading. (15%)




